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(JKLH� 3DUDVWXWL� ������������� ³3HQHUDSDQ� 3ULQVLS�3ULQVLS� 6\DULDK� GDODP�
%XGD\D� .HUMD� .DU\DZDQ� SDGD� %07� 8*7� 1XVDQWDUD� &DEDQJ�
%DQMDUPDVLQ´�� 3HPELPELQJ�� 'U�� 0DKPXG� <XVXI�� 0�6,��� SDGD� 3URJUDP�
6WXGL� 3HUEDQNDQ� 6\DULDK�� )DNXOWDV (NRQRPL� GDQ� %LVQLV� ,VODP� 8,1�
$QWDVDUL�%DQMDUPDVLQ�������

.DWD�.XQFL��3ULQVLS�3ULQVLS 6\DULDK��%XGD\D�.HUMD��%DLWXO�0DDO�ZDW�7DPZLO

3HQHOLWLDQ� LQL� GLODWDUEHODNDQJL GDODP� HUD� JOREDOLVDVL�� VXPEHU� GD\D� PDQXVLD�
PHPHJDQJ� SHUDQDQ� NUXVLDO� GDODP� PHQHQWXNDQ� NHEHUKDVLODQ� VXDWX� RUJDQLVDVL��
3HUXVDKDDQ� WHUPDVXN� OHPEDJD� NHXDQJDQ� V\DULDK WLGDN� KDQ\D� PHPEXWXKNDQ�
NDU\DZDQ� \DQJ� NRPSHWHQ�� QDPXQ� MXJD� \DQJ�PHQMXQMXQJ� WLQJJL� QLODL�QLODL� HWLND�
GDQ�VSULWXDO��WHUXWDPD�GDODP�NRQWHNV�EXGD\D�NHUMD�,VODPL�

7XMXDQ�SHQHOLWLDQ�\DLWX�XQWXN�PHQJHWDKXL�EDJDLPDQD�SHQHUDSDQ�SULQVLS�SULQVLS�
V\DULDK� GDODP� EXGD\D� NHUMD� NDU\DZDQ� SDGD� %07� 8*7� 1XVDQWDUD� FDEDQJ�
%DQMDUPDVLQ� GDQ� PHQJHWDKXL� EDJDLPDQD� GDPSDNQ\D�� 3HQHOLWLDQ� LQL� PHUXSDNDQ�
SHQHOLWLDQ� ODSDQJDQ� �ILHOG� UHVHDUFK� GHQJDQ� PHQJJXQDNDQ� PHWRGH� SHQHOLWLDQ�
NXDOLWDWLI� GDQ SHQGHNDWDQ� GHVNULSWLI�� 'DWD \DQJ� GLNXPSXONDQ� PHODOXL� KDVLO�
ZDZDQFDUD GDQ� GRNXPHQWDVL� 7HNQLN� DQDOLVLV� GDWD� PHQJJXQDNDQ� PHWRGH�
GHVNULSWLI�\DNQL�PHQGHVNULSVLNDQ�GDWD�\DQJ�GLSHUROHK�PHODOXL�VXPEHU�GDWD�SULPHU�
GDQ�GDWD�VHNXQGHU�

+DVLO� SHQHOLWLDQ�PHQXQMXNNDQ� EDKZD� SULQVLS�SULQVLS� V\DULDK� WHODK� GLWHUDSNDQ�
GDODP� EXGD\D� NHUMD� NDU\DZDQ�� PHOLSXWL� SULQVLS� NHVDWXDQ�� NHVHLPEDQJDQ��
NHKHQGDN� EHEDV�� WDQJJXQJ� MDZDE�� GDQ� NHEHQDUDQ�� 3HQHUDSDQ� SULQVLS�SULQVLS�
V\DULDK� LQL� WHUFHUPLQ� GDODP�NHJLDWDQ� RSHUDVLRQDO�%07�� VHSHUWL� NHJLDWDQ� UHOLJLXV�
UXWLQ�� SHQ\HGLDDQ� VDUDQD� LEDGDK�� HWLND� SHOD\DQDQ� VHSHUWL� SHUKDWLDQ� WHUKDGDS�
NHQ\DPDQDQ� NDU\DZDQ� GDQ� QDVDEDK�� NHEHEDVDQ� PHQ\DPSDLNDQ� SHQGDSDW�� GDQ�
WUDQVSDUDQVL�GDODP�EHUWUDQVDNVL�VHUWD�NHELMDNDQ�LQWHUQDO�\DQJ�VHMDODQ�GHQJDQ�QLODL�
QLODL� ,VODP� 3HQHOLWLDQ� LQL� PHPEHULNDQ� NRQWULEXVL� SDGD� SHPDKDPDQ� WHQWDQJ�
SHQWLQJQ\D� SHQHUDSDQ� SULQVLS�SULQVLS� V\DULDK� GDODP� EXGD\D� NHUMD� NDU\DZDQ� GL�
OHPEDJD�NHXDQJDQ�V\DULDK�
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³$OODK�DNDQ�PHQLQJJLNDQ�RUDQJ�RUDQJ�\DQJ�EHULPDQ�GLDQWDUDPX�GDQ�RUDQJ�

RUDQJ�\DQJ�GLEHUL�LOPX�SHQJHWDKXDQ�EHEHUDSD�GHUDMDW�´ �46��$O�%DTDUDK�����

+DUL�LQL�DGDODK�NHVHPSDWDQ�XQWXN�PHQMDGL�OHELK�EDLN�GDUL�NHPDULQ�

6DSD�ZDQL�UHNDVD��EDNDO�QJJD\XK�PXO\D

�6LDSDSXQ�\DQJ�EHUVXQJJXK�VXQJJXK�GDODP�XVDKDQ\D��SDVWL DNDQ�PHUDLK�

NHPXOLDDQ��

7LGDN�DSD�DSD�WHUODPEDW��+LGXS�EXNDQ�SHUORPEDDQ��7DSL�WRORQJ��MDQJDQ�

PHQ\HUDK��.DUHQD�DNDQ�DGD�KDUL�GL�PDQD�NLWD�ELVD�ELODQJ��³6D\D�VXGDK�VDPSDL´��

7HUVHUDK�DSD�NDWD�RUDQJ��NDUHQD�PHUHND�KDQ\D�PHOLKDW�KDVLOQ\D��$NDQ�WHWDSL��\DQJ�

PHQMDGL�VDNVL�SHUMXDQJDQ�GLVHWLDS�OHPEDU�VNULSVLQ\D�GDQ�PHQMDODQL�VHWLDS�

SURVHVQ\D�DGDODK�GLUL�NLWD�VHQGLUL�
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3XML� 6\XNXU� NHKDGLUDW� $OODK� 6:7�� \DQJ� GHQJDQ� NDUXQLD� VHUWD� UDKPDW�1\D�

WHODK�PHPEHULNDQ�NHODSDQJDQ�SHQXOLV�VHKLQJJD�ELVD�PHQ\XVXQ�NDU\D�DNKLU�\DQJ�

WHODK�EHUODNX�VHEDJDL�V\DUDW�SHQFDSDLDQ�JHODU�DNDGHPLN�

6KRODZDW� GDQ� VDODP� WHUXV� VHODOX� WHUJDXQJNDQ� NHSDGD� %DJLQGD� 5DVXO� 1DEL�

0XKDPPDG�6$:��EHVHUWD�SDUD�NHOXDUJD��VDKDEDW�EHVHUWD�SHQJLNXW�EHOLDX�KLQJJD�

\DXPLO�TL\DPDK�

'HQJDQ�VHJHQDS�NHUHQGDKDQ�KDWL�NX�SHUVHPEDKNDQ�VNULSVL�LQL�NHSDGD�RUDQJ�

RUDQJ�\DQJ�WHODK�PHPEHULNDQ�GR¶D�GDQ�VXSSRUW�\DQJ�VDQJDW�EHUDUWL�

�� 2UDQJ� WXDNX� WHUFLQWD� 0DPD� GDQ� %DSDN� \DQJ� VHQDQWLDVD� PHQGXNXQJ� GDQ�

EHUGR¶D� XQWXN� VHWLDS� ODQJNDKNX� GDQ� VHODOX�PHPEHUL� OLPSDKDQ� NDVLK� VD\DQJ�

VHFDUD� PRULO� GDQ� PDWHULO� \DQJ� WXOXV� LNKODV� KLQJJD� PHQMDGL� GLULNX� \DQJ�

VHNDUDQJ�\DQJ�WHUXV�EHUXSD\D�PHQJJDSDL�FLWD�FLWD��GHQJDQ�GR¶D�GDQ�GXNXQJDQ�

%DSDN�GDQ�0DPD�VHQDQWLDVD�DNX�KDUDSNDQ�DJDU�ODQJNDKNX�HVRN�WHUXV�PDMX�

�� $GLNNX��0DIWD�,VWQLD�$GGDZL\DK�\DQJ�DNX�VD\DQJL��WHULPDNDVLK�WHODK�PHQMDGL�

SHQ\HPDQJDW� GDODP� KDUL�KDULNX�� 6HPRJD� NLWD� PHQMDGL� DQDN� VKROHKDK� GDQ�

EHUEDNWL� NHSDGD� RUDQJ� WXD�� GDQ� XQWXN� VHPXD� NHOXDUJDNX�� WHULPDNDVLK� DWDV�

GR¶D�GDQ�GXNXQJDQQ\D�VHODOX�

�� 0EDK� .DWLPL� GDQ� 0EDK� 7XNLPXQ� 3DPDQ� GDQ� 7DQWHNX�� VHUWD� NHOXDUJDNX�

WHULPDNDVLK�VXGDK�VHODOX�DGD�XQWXN�SHQXOLV��VHODOX�PHPEHULNDQ�GR¶D�GDQ�WHUXV�

PHPRWLYDVL�XQWXN�WHWDS�EHUMXDQJ�VDPSDL�VDDW�LQL�

�� %DSDN�'U��0DKPXG�<XVXI��0�6,��VHODNX�GRVHQ�SHPELPELQJ�DNDGHPLN�\DQJ�

WHODK�PHPELPELQJ�VD\D�GDUL�VHPHVWHU�DZDO�VDPSDL�VHNDUDQJ�
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�� 7HULPDNDVLK� XQWXN� VDKDEDW� GDQ� WHPDQ�WHPDQNX� VHPXD� DWDV� VHPDQJDW��

PRWLYDVL�GDQ�GR¶D�XQWXNNX�VHODPD�LQL�
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6WDQGDU� WUDQVOLWHUDVL� \DQJ� GLJXQDNDQ� DGDODK� SHGRPDQ� WUDQVOLWHUDVL� \DQJ�

EHUGDVDUNDQ�6XUDW�.HSXWXVDQ�EHUVDPD�0HQWHUL�$JDPD�5,�GDQ�0HQWHUL�3HQGLGLNDQ�

GDQ� .HEXGD\DDQ� 5, 1RPRU� ��������� GDQ� ����� E�8������� WDQJJDO� ��� -DQXDUL�

������VHEDJDL�EHULNXW�

$� .RQVRQDQ 7XQJJDO

+XUXI�
$UDE

1DPD +XUXI /DWLQ .HWHUDQJDQ

΍ $OLI � 7LGDN GLODPEDQJNDQ

Ώ EƗޘ % %H

Ε WƗޘ 7 7H

Ι ৠƗޘ ৠ HV �GHQJDQ WLWLN GL DWDV�

Ν -ƯP - -H

Ρ KƗޘ ত KD �GHQJDQ WLWLN GLEDZDK�

Υ NKƗޘ .K .DGDQ�KD

Ω 'DO ' 'H

Ϋ ĩDO ĩ ]HW �GHQJDQ WLWLN GL DWDV�

έ UƗޘ 5 (U

ί =DL = =HW

α 6ƯQ 6 (V

ε 6\ƯQ 6\ HV GDQ�\H

ι ùƗG ৢ HV �GHQJDQ WLWLN GL EDZDK�

ν 'ƗG ঌ GH �GHQJDQ WLWLN GL EDZDK�
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ρ ĠƗޘ ৬ WH �GHQJDQ WLWLN GL EDZDK�

υ ]Ɨޘ ਌ ]HW �GHQJDQ WLWLN GL EDZDK�

ω µDLQ µ .RPD WHUEDOLN GL DWDV

ύ *DLQ * *H

ϑ IƗޘ ) (I

ϕ 4ƗI 4 4L

ϙ .DI . .D

ϝ /ƗP / µHO

ϡ 0LP 0 µHP

ϥ 1XQ 1 µHQ

ϭ :ƗZX : :H

ϩ KƗޘ + +D

˯ +DP]DK µ $SRVWURI

ϯ \Ɨޘ < <H

%� .RQVRQDQ UDQJNDS NDUHQD V\DGGDK GLWXOLV UDQJNDS

Ύ˴Ϩ͉Αέ˴ 'LWXOLV 5DEEDQƗ

ή˷ΒϜΘϣ 'LWXOLV 0XWDNDEELU

&� 7Ɨ¶PDUEǌWDK
�� $SDELOD GLPDWLNDQ GLWXOLV K�

%LOD GLPDWLNDQ GLWXOLV K� NHFXDOL XQWXN NDWD�NDWD $UDE \DQJ VXGDK
WHUVHUDS�PHQMDGL�EDKDVD�,QGRQHVLD��VHSHUWL�VKDODW��]DNDW��GDQ�VHEDJDLQ\D�

&RQWRK�

ΔΒϫ 'LWXOLV KLEDK

�� $SDELOD WD¶PDUEǌWDK KLGXS DWDX GHQJDQ KDUDNDW� IDWKDK� NDVUDK GDQ
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GDPPDK�GLWXOLV�W�
&RQWRK�

Δϣ΍ήϛ˯ΎϴϟϭϷ΍ 'LWXOLV .DUƗPDWXO�DXOL\Ɨµ

'� 9RNDO 3HQGHN

˰˶˰˰ .DVUDK 'LWXOLV ,

˰˴˰˰ )DWKDK 'LWXOLV $

˰˵˰˰ 'DPPDK 'LWXOLV 8

(� 9RNDO 3DQMDQJ

� )DWKDK � DOLI
ΔϴϠϫΎΟ 'LWXOLV

Ɩ
-ƗKLOL\\DK

� )DWKDK � \D¶PDWL
ϰόδϳ 'LWXOLV

Ɩ
\DVµƗ

� .DVUDK � \D¶PDWL
Ϣϳήϛ 'LWXOLV

Ʈ
.DUƯP

� 'DPPDK � ZDZX PDWL
νϭήϓ 'LWXOLV

ǋ
IXUǌڲ

)� 9RNDO 5DQJNDS

�
)DWKDK � \D¶ PDWL
ϢϜϨϴΑ 'LWXOLV DX±%DLQDNXP

�
)DWKDK � ZDZXPDWL
Ϯϗϝ 'LWXOLV DX±4DXOXQ

*� 9RNDO�YRNDO SHQGHN \DQJ EHUXUXWDQ GDODP VDWX NDWD GLSLVDKNDQ
GHQJDQ�DSRVWURI���ƍ��

ϢΘϧ΃΃ 'LWXOLV D¶ DQWXP

ΕΪϋ΃ 'LWXOLV X¶ LGGDW

ϦΌϟήϜηϢΗ 'LWXOLV OD¶LQV\DNDUWXP

+� .DWD VDQGDQJ $OLI � /DP
D� $SDELOD GLLNXWL KXUXI 4RPDUL\\DK GLWXOLV GHQJDQ PHQJJXQDNDQ KXUXI ³DO´�
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ϥ΃ήϘϟ΍ 'LWXOLV DO�4XU¶ƗQ

αΎϴϘϟ΍ 'LWXOLV DO�4L\ƗV

E� %LOD GLLNXWL KXUXI�V\DPVL\\DK� GLWXOLV GHQJDQ PHQJJXQDNDQ KXUXI
V\DPVL\\DK�\DQJ�PHQJLNXWLQ\D��GHQJDQ�PHQJKLODQJNDQ�KXUXI�³DO´�Q\D�

˯ΎϤδϟ΍ 'LWXOLV DV�6DPƗ

βϤθϟ΍ 'LWXOLV DV\�6\DPV

,� 3HQXOLVDQ NDWD�NDWD GDODP UDQJNDLDQ NDOLPDW

ϱϭΫνϭήϔϟ΍ 'LWXOLV
ĩDZL DO�IXUǌڲ DWDX�
ĩDZLOIXUǌڲ

Ϟϫ΃ΔϨδϟ΍ 'LWXOLV
DKO DV�VXQQDK DWDX�
DKOXVVXQQDK
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'HQJDQ� 5DKPDW� $OODK� 7XKDQ� \DQJ� 0DKD� 6HJDODQ\D� VHUWD� 6KDODZDW� \DQJ�

VHODOX�WHUFXUDK�NHSDGD�6DQJ�.HNDVLK�1\D��WHQWX�GHQJDQ�VHOHVDLQ\D�NDU\D�WXOLV�LQL�

PHQMDGL�VDWX�NHEDQJJDDQ�WHUVHQGLUL�\DQJ�GDODP�NRQVHS�SHQXOLV�PHUXSDNDQ�VHEXDK�

NDU\D�\DQJ�VDQJDW�EHUKDUJD�

6HEXDK�NDU\D�WXOLV�\DQJ�EHUMXGXO�³3HQHUDSDQ�3ULQVLS�3ULQVLS�6\DULDK�GDODP�

%XGD\D�.HUMD�.DU\DZDQ�SDGD�%07�8*7�1XVDQWDUD�&DEDQJ�%DQMDUPDVLQ´�WHODK�

PDPSX SHQXOLV� VHOHVDLNDQ�GHQJDQ�EDLN� \DQJ� MXJD�PHQMDGL�EDJLDQ�GDUL�SUDV\DUDW�

XQWXN� PHPSHUROHK� JHODU� DNDGHPLN� 6DUMDQD� (NRQRPL� )DNXOWDV� (NRQRPL� GDQ�

%LVQLV�,VODP�8QLYHUVLWDV�,VODP�1HJHUL�$QWDVDUL�%DQMDUPDVLQ�

1DPXQ�� SHQ\HOHVDLDQ� WHUVHEXW� WLGDNODK� OHSDV� GDUL� SHUDQ� NRQWULEXVL� PHUHND�

\DQJ� VHODOX� PHPEHULNDQ� VHPDQJDW� GDQ� PHQJXOXUNDQ� EDQWXDQQ\D�� EDLN� EHUXSD�

PDWHUL��ZDNWX�� WHQDJD�PDXSXQ�EDQWXDQ�GDODP�EHQWXN�\DQJ� ODLQ��2OHK�NDUHQD� LWX��

SDGD� NHVHPSDWDQ� LQL� SHQXOLV� LQJLQ� PHQJXFDSNDQ� EDQ\DN� WHULPD� NDVLK� NHSDGD�

PHUHND��GLDQWDUDQ\D�

�� %DSDN� 3URI�� 'U�� +�� 0XMLEXUUDKPDQ�� 0$� VHODNX� 5HNWRU� 8QLYHUVLWDV� ,VODP�

1HJHUL�$QWDVDUL�%DQMDUPDVLQ�

�� %DSDN�'U��+��6XNDUQL��0�$J��VHODNX�'HNDQ�)DNXOWDV�(NRQRPL�%LVQLV� ,VODP�

8QLYHUVLWDV�,VODP�1HJHUL�$QWDVDUL�%DQMDUPDVLQ�
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�� %DSDN� )DTLK� (O� :DID�� 6+,��� 0�6�,� GDQ� %DSDN� <XVXI� $V\DKUL�� 6�(��� 0�(��

VHODNX� .HWXD� GDQ� 6HNUHWDULV� SURJUDP� VWXGL� 3HUEDQNDQ� 6\DULDK�� )DNXOWDV�

(NRQRPL�%LVQLV�,VODP�8QLYHUVLWDV�,VODP�1HJHUL�$QWDVDUL�%DQMDUPDVLQ�

�� %DSDN� 'U�� 0DKPXG� <XVXI�� 0�6,� VHODNX� 'RVHQ� 3HQDVLKDW� $NDGHPLN� GDQ�

3HPELPELQJ� 6NULSVL� \DQJ� WHODK� PHPEHULNDQ� VDUDQ� VHUWD� PHOXDQJNDQ�

ZDNWXQ\D�NHSDGD�SHQXOLV�VHODPD�PHQ\HOHVDLNDQ�VNULSVL�LQL�

�� %DSDN�GDQ�,EX�'RVHQ�)DNXOWDV�(NRQRPL�GDQ�%LVQLV� ,VODP�8QLYHUVLWDV� ,VODP�

1HJHUL� $QWDVDUL� %DQMDUPDVLQ \DQJ� WHODK� PHPEHULNDQ� EHNDO� LOPX� \DQJ�

EHUPDQIDDW�EDJL�SHQXOLV�

�� .HSDOD� 3HUSXVWDNDDQ� GDQ� VHOXUXK� 7HQDJD� .HSHQGLGLNDQ� 8QLYHUVLWDV� ,VODP�

1HJHUL $QWDVDUL %DQMDUPDVLQ�

�� .HSDGD�VHPXD�SLKDN %07�8*7�1XVDQWDUD�&DEDQJ�%DQMDUPDVLQ��\DQJ�WHODK�

PHPEDQWX�PHQMDGL�LQIRUPDQ GDODP�SHQHOLWLDQ�LQL�

�� 0DPD�GDQ�%DSDN WHUFLQWD��WHULPDNDVLK�EDQ\DN�DWDV�GR¶D��FLQWD��NDVLK�VD\DQJ��

GDQ� VHPXD� SHQJRUEDQDQ� \DQJ� WLGDN� SHUQDK� DGD� KDELVQ\D� 7HULPDNDVLK� DWDV�

VHWLDS�WHWHV�NHULQJDW�GDODP�VHWLDS�ODQJNDK�SHQJRUEDQDQ�GDQ�NHUMD�NHUDV�\DQJ�

GLODNXNDQ� XQWXN� PHPEHULNDQ� \DQJ� WHUEDLN� NHSDGD� SHQXOLV�� PHQJXVDKDNDQ�

VHJDOD� NHEXWXKDQ� SHQXOLV�� PHQGLGLN�� PHPELPELQJ�� GDQ� VHODOX� PHPEHULNDQ�

NDVLK�VD\DQJQ\D�\DQJ�WXOXV��PRWLYDVL�VHUWD�GXNXQJDQ�GDQ�PHQGR¶DNDQ�SHQXOLV�

GDODP� NHDGDDQ� DSDSXQ� DJDU� SHQXOLV� PDPSX� EHUWDKDQ� XQWXN� PHODQJNDK�

VHWDSDN�GHPL�VHWDSDN�GDODP�PHUDLK�PLPSL�GL�PDVD�GHSDQ��7HULPDNDVLK�XQWXN�

VHODOX� EHUDGD� GL� VLVL� SHQXOLV� GDQ� PHQMDGL� DODVDQ� EDJL� SHQXOLV� GDODP�

PHQ\HOHVDLNDQ�VNULSVL�LQL�KLQJJD�PHPSHUROHK�JHODU�6DUMDQD�(NRQRPL�
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�� $GLN� WHUFLQWD� SHQXOLV� \DQJ� VHODOX� PHQJKLEXU�� PHPEHULNDQ� GXNXQJDQ� GDQ�

PRWLYDVL�NHSDGD�SHQXOLV�

��� .HOXDUJDNX�WHUFLQWD��WHULPDNDVLK�DWDV�GR¶D�GDQ�FXUDKDQ�NDVLK�VD\DQJ�\DQJ�WDN�

WHUKLQJJD�VDPSDL�DNKLUQ\D�SHQXOLV�ELVD�PHQ\HOHVDLNDQ�VNULSVL�LQL�

��� 6DKDEDW�GDQ�WHPDQ�WHPDQ VHSHUMXDQJDQ�\DQJ�WHODK�EHUEDJL�SHQJDODPDQ�VHUWD�

SHQJHWDKXDQQ\D�GDODP�VXND�PDXSXQ�GXND��\DQJ� WLGDN�GDSDW�GLVHEXWNDQ�VDWX�

SHUVDWX�

��� 1';�$.$��$IWHUVKLQH��'HQQ\�&DNQDQ��*X\RQ�:DWRQ�� /DYRUD�� WHULPDNDVLK�

NDUHQD� ODJX�ODJX�NDOLDQ�VXGDK�PHQMDGL�SOD\OLVW�NHEDQJVDDQ�XQWXN�PHQHPDQL�

SHQXOLV�GDODP�SHQ\HOHVDLDQ�VNULSVL�LQL�

��� .HSDGD�GLUL�VD\D�VHQGLUL��(JKLH�3DUDVWXWL��7HULPDNDVLK�VXGDK EHUWDKDQ�VHMDXK�

LQL�� 7HULPD� NDVLK� WHWDS� PHPLOLK� EHUXVDKD� GDQ� PHUD\DNDQ� GLULPX� VHQGLUL�

VDPSDL� GL� WLWLN� LQL�� ZDODX� VHULQJNDOL� PHUDVD� SXWXV� DVD� DWDV� DSD� \DQJ�

GLXVDKDNDQ� GDQ� EHOXP� EHUKDVLO�� QDPXQ� WHULPD� NDVLK� WHWDS�PHQMDGL�PDQXVLD�

\DQJ�VHODOX�PDX�EHUXVDKD�GDQ� WLGDN� OHODK�PHQFRED��0DPSX�PHQJHQGDOLNDQ�

GLUL� GDUL�EHUEDJDL� WHNDQDQ�GL� OXDU�NHDGDDQ�GDQ�PHPXWXVNDQ� WLGDN�PHQ\HUDK�

VHVXOLW� DSDSXQ� SURVHV� SHQ\XVXQDQ� VNULSVL� LQL� GDQ� WHODK� PHQ\HOHVDLNDQQ\D�
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